Efficiency vs P,

.05
o
9.045
>
20.04
©
9.035
[J]
0.03
0.025
0.02
0.015
0.01
0.005f

Of
v2ff-

Ratio

1k S .
01+l : :

0.8l

107 1 10 prT (Ge\})o

—=— DQM_TT _original_time
—e— DQM_TT _original_time2
—— DQM_TT_modified_time2

= 0.
2
20.09
2
50.08
o
£0.07
[}
0.06
0.05
0.04
0.03
0.02
0.01

+0
1.2
1.1

..........................................

....................................

E—
E e
==
s IR T
e ™"
¥ :
=
Ly
- -
=
oy
——1
B -

Ratio

T T T T

TP n

Efficiency vs ¢

20.05¢
o F
§.045 ;
Q

°
o

2O

TP @



	Contents
	Page 1


